HALF YEARLY EXAMINATION 2021-22~

Class : IX
Subject : Mathematics
Time Allowed : 3:15 Hours Max. Marks : 70
Instructions:
()] All questions are compulsory. |
(i) First 15 Minutes are allotted for the candidate to read the question

paper. Atthe second bell you will start writing your answers.

(i) This question paper is divided into two Sections ‘A'and'B".

(iv) Marks are indicated against each questions. Read the question
very carefully before answering them.

(V) Please check that the questions paper No. of printed paper is 08.

SECTION-A (20x1 = 20)
Q1 WP IRATEEnE |
() T WIgd =1 (@) TE quie
(1) U it e (1) v ol wE
(@) Anatural number (c) Aninteger
(c) Arealnumber (d) Awhole number
Q2 3V3+V3ENENE-
(%) 3V6 (@) 9
(1) 43 (a) AP
(a) 3V6 (b) 9
(c) 43 (d) Noneofthese
Q3 V2 dRV3d S THIRIg eI
(B) [J2+/3 (@) |J2x/3
2 2
()18 (|) 15
Read
(1) (Maths/IX)
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Q.4

Q.5

Q.6

Q.7

Q.8

(@) ‘/ v2+y3 ) [V5xy3

2
(c) 1.8 d) 15
2-y2y3+2y3 Hagug U ¥ —
(%) 2 (@) 3
(Mo (9) 8
Degree of a polynomial 2-y2-y3 + 2y8is
(a) 2 (b) 3
(c) 0 (d) 8
(256)"° x (256)* O FT A & -
(F) 4 (|) 16
() 64 (°) 25625
The value of (256)° 1€ x (256)%%¢
(a) 4 (b) 16
(c) 64 (d) 256.25
ﬁqﬁf@ﬁﬁﬁaﬁqw@z%—
(%) X -__-;. (@) ~2x-1
x> -
(m) x2+ 5= (®) 57
Whichis a polynomial in following
(a) jgi__fg (b) 2x-1
(c) x2+ %3'2 (@) XL
v X X+1
2x2 +7x-4 BYAD AN THE -
(@)% (w) 7
1 2
(1) -3 (7) -2
Which one of these zeros of polynomia| 2x2 + 7x-4
(a) 2 by L
] 2
(c) "5 (d -2
ﬂﬁ{x+1)1§w2x2+mﬂq¢w%a’mmm%:
() -3 (@) 4
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(M) 2 (|) -2

If(x + 1}is a factor of polynomial 2x? + Kx, the value ofKis

(a) -3 (b) 4

(c} 2 (d) -2
Q.9 &2 srafta wema o rwe S -

(%) wa v g wea (@)wea Ua oiig wen

() wa v Qi (@) T R v i Srafe W

The Product of any two irrational numbers is

(a) Alwaysanirrational  (b) Always a rational number

(c) Alwaysaninteger

(d) Sometimes rational number sometimes irrational number
Q.10 (x+3) S TR x FIOTH X -

(®)1 (|) 9

(1) 18 (&) 27

In expanded form of (x + 3)°, the cofficient of x is

(a) 1 (b) 9

(c) 18 (d)y 27
Q11 25-9x2 % UGS & -

(&) (5-3x)(5-3x) (@) (5-9x)(5+x)

() (-5+3x)(5-3x) (a) (5+3x)(5-3x)

The factor of 25-9x2 s

(@ (5-3x)(5-3x) (b) (5-9x)(5+x)

(€) (-5+3x)(5-3x) (d) (5+3x)(5-3x)
Q.12 ?Ifi.'(z,O)Wﬂ‘ﬁﬂﬂmhﬂy:mﬁlw%ﬁ%?ﬁ}(mm%_

(F) 4 (|) 6

() 5 (|) 2

If(2.0)is a solution of linear equation 2x + 3y =K , The value of K is

(@) 4 (b) 6

(c) 5 (d) 2

Q.13 @ wlidwor 2x -5y = 7
(¥) Rl (@) dDeak]
(1) B3R WP s y(u) I et
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Linearequation2x=5y=7
(a) Aunique solution (b) Twosolution
(¢) Infinitely many solution  (d) Noany solution

Q.14 TF YA B P012:4 3B IGUAHY | @ TR BRI E -

(@) 200 (@) 400

(1) 600 (&) 900

Ratio of angles of a triangle in 2: 4 : 3, The smallest angle of triangle
is-

(a) 20° (b) 40°

(c) 60° (d) 90°

Q.15 F=ifFafEdxFmaEE-

4x 2,?
< A o) B >
() 30° (@) 450
(1) 90° (a) 600
Find the value of x in following figure
4x 2,?
3 A o) B ->
(a) 30° (b) 45°
(c) 90° (d) 60°
Q.16 A ABCHAB=ACIAR/B=50°T9 L C UL |
(F) 40° (@) 50°
() 80° (") 130°
In A ABC,AB=AC and £ B =50°then £ C equal.
(a) 40° (b) 50°
(c) 80° (d) 130°
Q17 Yoy sramE-
1 1
(?ﬁ) 9 (E) k)
1
(1) 9 () 5
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The value of 4v(81)?is

@ 3 b ¥
() 3 CIF
Q.18 IFgu i Rum s Bary -
(&) "E I (|) 3fers o
(W) WS (a) ot B
The angle of Semicircle is -
(a) AcuteAngle (b) ObtuseAngle
(¢) RightAngle (d) Complete Angle

Q.19 AABC 3R A DEF ¥ AB = FD @ /A= /D @ 21 firqa watras &1
of

(®) BC=EF (@) AC=DE
(M) AC=EF (a) BC=DE
InAABCand ADEF.AB=FDand. A=._Dthen AABC = ADEF if
(a) BC=EF (b) AC=DE
(c) AC=EF (d) BC=DE

Q.20 x3-6x2+12x- 8 (x-2) q A A G AYEH &AM —
(®)0 (|) 6
(%) 4 (|) -4
x? - 6x + 12 x-8 is divided by (x-2) then remainder will be
(a) 0 (b) 6
(c) 4 (d) -4

Section - B

Q.1 fFrafafaa 4 R o auel ) @ S -

(Solve any five parts of following)

(®) V45 -3V20 + 45 B W Hfore |
(w) X5 85‘16 B WA Hiforg |

2+w3
() v B WH U #ifore |

N

(%) ﬁmﬁuﬁiﬂmw% N Yot ) s Afre |
(¥) V13 ﬁmmwmwl

(2x5 = 10)

(3)

(Mathy 1x,
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Q.2

Q3 Freforfae # % el 1wt o e oo |

() qgITP(x) = 2x +1 1 T I[AD T BTG |
Solve any five parts of following -
(a) Simplify V45 - 320 + 45

Simplify 8—-m-3$‘216

2+V3

2-V3

The difference of two supplementary Angle is 40°, Fing the
angles.

)
(c) Rationales the denominator of
)

(e) Representonnumberline V13

(f)  Findthe zeros of polynomial P (x)=2x+1

iR 34 el fm wvei P ea i | (4x3=12)

(&) %@mAswmmcmﬂw%aﬁ?oonm
TR Rrg AR |

1.4 AOB=ADOC
2. O, ¥@rEs, BCHIAufag ¥ |

(&) F1It TR BT PR x4 + 53 - 252 41 B x-1H A AR
YINEH SR DG |

(1) uﬁa=2+\fseﬁa-% &1 HH ST B |

(=) af a+b+c=93ﬁ?ab+bc+ca=263‘I32+b2+c2'iﬁl‘ﬂ=l?ﬂ?l
IR |

Solve any three parts of following -

(@) AB||CDandOisthe Midpoint of Linesegment AD. Prove that -

() AAOB=ADOC
(i) Ois the mid point of line segmentBC.

(b) Using the remainder theorem fin
X4+x3- 22 4 x 41 by x-1

(c) ifa=2+V3findthevalueof a--1
(d) Ifa+b+c=9andab+bec+

d the remainder of to divide

a
Ca =26 Find the value of a2+ b2 + ¢2.

(W) 2753 +y3 +2°_ gy VT , (4x3=12)
T @S Hiforg

(@) ‘%ia'wr@'iﬁ ZPQR= £ PRQ A Rrg Hiftre fy £ PQs = ZPRT
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.
L

s Q R 17
(1) 27x3 + 12523 BT IUrTES HIFTT |
(&) Wer oA % POQ U ¥an ¥ | fo1 OR Y@ PQ R e & | OP
AR OR F 8 05 1o o fory | v BIRdT 1135 -

£ROS= -;— (£Q0S- £POS)
R

A
S

9°
0 Q
Solve any three parts of following -
(@) Factorise 27x3 +y*+z3-9xyz
(b) Ingivenfigure ZPOR=ZPRQ. The prove tat /PQS=/PRT.
P

ra &
AN >

e
< rd

5 Q R T
(c) Foctorise 27x® + 12523
(d) Inthe given figure POQis aline. Ray OR s the perpendicular on

PQ. OSis an other ray between OP and OR. Prove that ~ ROS =
'12 (£QOS- £POS)
Q4 PrafaRaa 3 Rl ve @s B e PR |

() R @t (9x° + 3x2- 13) TAT (2x° - 5% +2) % A WD B (x+2)
AT 2 TR DTG T ¥ A @ BT A A DAY |

(@) w@ s ABC B ZABC % ZABC WHIGHIVIS U6 TR bl famg o
e 2 a) Fig e f6 «BOC =90+ 71- Z BAC

Solve any one part- (8x1=3)

(a) If expressions (9x3 + 3x? - 13) and (2x2 - 5x + 1) is divid ed by
(x+2), then remainder is equal. Find the value of ¢,

(b) The bisector of Z/ABC and ZACB of a triangle ABC, meet on
' e
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another on point O. Prove that ZBOC =90+ 7} Z BAC.
a5 PrefiRead @ R @ avs # E P | (8x1=8)
(F) e g it y 1 W S BT |

5y 2y
€« —
Sy

=
Cal

(E)uﬁmﬁﬁaﬁﬁaﬁﬁﬁﬁwwmw&mﬁgﬁ
mmmmwmmﬁw%aﬁﬁwa%ﬁﬁhﬁvhﬁ
EISEdim

Solve any one part
(a) Ingiven figure find the value of y

Sy 2y R
(_ 0 N ”

Sy

(b) If a triangle one angle is twice of the smallest angle and the
second angle is three times of the smallest angle. Then find the

all angles of triangle.
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